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ē R
iγ
µ
D
µ
e R

(7
.5

2a
)

L
=
L i

n
t
+

L H ︸︷︷
︸

H
ig

g
sa

n
te

il

+
L 0 ︸︷︷
︸

Fr
ei

fe
ld

an
te

il

(7
.5

2b
)

D
µ
L
=
  ∂

µ
+

iq
∑ l

rl 2
W
l µ
+

iq
′1 2
B µ

 
L

(7
.5

2c
)

D
µ
e R
=
( ∂ µ

+
iq
′1 2
B µ
) e R

(7
.5

2d
)

L
is

t
SU
(2
)
⊗

U
(1
)-

ei
ch

in
va

ri
an

t,
e R

is
t

al
s

Si
n

g
u

le
tt

n
u

r
U
(1
)-

ei
ch

in
va

ri
an

t.
So

rt
ie

re
n

an
al

o
g

z
u

A
b

sc
h

n
it

t
??

.

L i
n

t
=
−
q √ 2
(v̄
L
γ
µ
e L
)W

+ µ
−
q √ 2
(ē
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)ê
m
=

eim
ϕ
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ê n
〉

=
ei(
n
−m

)ϕ
〈ê
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2ê
3
⊗
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0 )=
ε=
0

∂β
ρ

∂α
κ ∣∣∣∣

α=
α
0 g
(α

0 )
(6

.21a)

w
o
b

ei

∂g
(β
)

∂β
ρ

∣∣∣∣∣
β=
0 =

J
ρ

(6
.21b

)

∂β
ρ

∂α
κ ∣∣∣∣

α=
α
0 =

∂ϕ
ρ

∂α
κ ∣∣∣∣

α
0 =

λ
ρκ (α

0 )
(6

.21c)

∂g
(α
)

∂α
κ

∣∣∣∣
α
0 =

λ
ρκ (α

0 )J
ρ g
(α

0 )
(6

.22a)

in
sb

eso
n

d
ere
α
0 =
α

∂g
(α
)

∂α
κ

∣∣∣∣
α =

λ
ρκ (α
)J
ρ g
(α
)

(6
.22b

)

α
0

ist
w

eiterh
in

fest
ab

er
au

f
d

en
W

ert
α

g
esetz

t,an
d

em
d

ie
A

b
leitu

n
g

g
eb

ild
et

w
ird

.
P
artielle

D
iff

eren
tiatio

n∂
2g

∂α
σ∂α

κ
=
∂λ

ρκ

∂α
σ
J
ρ g
(α
)+
λ
ρκ (α

)J
ρ
∂g
(α
)

∂α
σ

=
∂λ

ρκ

∂α
σ
J
ρ g
(α
)+
λ
ρκ (α

)J
ρ λ
τσ J
τ g
(α
)

(6
.23)

20
16

-0
5-11

71

3.2
|

S
y

m
m

e
r

t
ie

n
im

a
f

f
in

e
n

R
a

u
m

:
E(3

)

M
issin

g

fi
g
u

re

ñ
8

E
in

e
Sp

ieg
elu

n
g

m
it

an
sch

ließ
en

d
er

T
ran

slatio
n

h
eiß

t
G

leitsp
ieg

elu
n

g
.

R
o
tatio

n
sin

versio
n

:
{S(n̂

,ϕ
),0}=

{R
(n̂
,ϕ
)i,0}

(3.30
)

d
u

rch
a
≠
0

:
{
1,a}{S(n̂

,ϕ
),0}{

1,a} −
1=
{S,a

−
Sa}

.

Fixp
u

n
k
t,w

en
n

[1−
S(n̂

,ϕ
)]a

=
t
.

(3.31)

D
as

G
leich

u
n

g
ssystem

(3.31)
ist

lö
sb

ar

d
et(1−

S)=
∣∣∣∣∣∣∣ 1+

co
s
ϕ

−
sin
ϕ

0
sin
ϕ

1+
co

s
ϕ

0
0

0
2 ∣∣∣∣∣∣∣ =

4(1+
co

s
ϕ
)
≠
0

fü
r
ϕ
≠
π
.

(3.32)

3
.2

.3
A

n
m

erk
u

n
g
en

E(3)
ist

d
ie

M
en

ge
aller

län
gen

erh
alten

d
en

Iso
m

o
rp

h
ism

en
(Iso

m
etrien

)
d

es
affi

n
en

R
au

m
-

es
R
3.

In
d

er
eu

k
lid

isch
en

G
eo

m
etrie

h
eiß

en
z
w

ei
T

eilm
en

g
en
S,S

′⊂
R
3

kon
g
ru

en
t,

w
en

n
es

ein
g
∈

E(3)
g
ib

t
m

it
S
′=
g
S

.
T

ran
slatio

n
en

,Sch
rau

b
u

n
g
en

u
n

d
G

leitsp
ieg

elu
n

g
en

b
esitz

en
k
ein

en
Fixp

u
n

k
t.

Es
g
ib

t
ein

en
H

o
m

o
m

o
rp

h
ism

u
sd
et:

E(3)→
Z
2 =
{−
1,1}

{R
,t}

,
d

etR
(3.33)

m
it

k
er

d
et=

E(3)
d

er
eig

en
tlich

en
eu

k
lid

sch
en

G
ru

p
p

e
o
d

er
G

ru
p

p
e

d
er

starren
B

ew
e-

g
u

n
g
en

.
Es

g
ib

t
in

ein
er

Erw
eiteru

n
g

d
ie

D
o
p

p
elg

ru
p

p
e

SU
(2)∧

T(3)

30
20

15-12-10



6
.2

|
L

ie
g

r
u

p
p

e
u

n
d

L
ie

a
l

g
e

b
r

a

6
.2

.1
L
ie

al
g
eb

ra
ei

n
er

M
at

ri
x
g
ru

p
p

e

D
ie

G
ru

p
p

e
h

ab
e

d
ie

E
le

m
en

te
G
=
{g
(α
)}

.
D

ie
Li

ea
lg

eb
ra

is
t

d
er

T
an

g
en

ti
al

ra
u

m
am

Ei
n

se
le

m
en

t
(n

o
rm

al
er

w
ei

se
α
=
ε
=
0)

.S
ie

w
ir

d
vo

n
d

en
Er

z
eu

g
en

d
en

J k
=
∂g ∂α
k

∣ ∣ ∣ ∣ α
=0

(6
.1

0
)

au
fg

ep
sa

n
n

t.

¸
B
ei

sp
ie

l
U
(1
)
=
{e

iφ
|0
≤
φ
<
2π
}

d d
φ

eiφ

∣ ∣ ∣ ∣ ∣ φ
=0
=

i
(6

.1
1)

Li
ea

lg
eb

ra
vo

n
U
(1
)

is
t

iR
o
d

er
an

d
er

s
au

sg
ed

rü
ck

t:
i

is
t

in
fi

n
it

es
im

al
er

E
rz

eu
g
er

vo
n

U
(1
).

eiφ
≈
1
+

iφ
(6

.1
2) µ

¸
B
ei

sp
ie

l
SO
(3
)

g
(ω

1
,0
,0
)

(3
.7

) =
1

co
s
ω
1
+
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ê †i D
(g
)ê
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)ê
j

(5.33)

20
16

-0
4

-20
6

1

4
.3

|
B

e
d

e
u

t
e

n
d

e
m

a
t

h
e

m
a

t
is

c
h

e
G

r
u

n
d

l
a

g
e

n

4
.3

.1
Sch

u
r-L

em
m

ata

4
.3

T
h

eo
rem

Seien
D
(i):G

→
G

L(V
i),i=

1,2
zw

ei
irred

u
zib

le
D

a
rstellu

n
g
en
G

.
SeiA

:V
1→

V
2

ein
e

lin
ea

re
A

b
b
ild

u
n

g
m

it

D
(2)(g

)A
=
A
D
(1)(g

)
(4

.16
)

fü
r

a
lle
g
∈
G

,d
.h

.d
a

s
D

ia
g
ra

m
m

V
1

V
1

V
2

V
2

D
(1)(g

)

A
A

D
(2)(g

)

kom
m

u
tiert.D

a
n

n
g
ilt

1.
A

ist
ein

Isom
orp

h
ism

u
s

od
er
A
=
0

.

2.
Fa

lls
D
(1)

u
n

d
D
(2)

n
ich

t
ä

q
u

iva
len

t
sin

d
,so

folg
tA
=
0

.

3.
Ist
D
=
D
(1)=

D
(2)

u
n

d
V
=
V
1=

V
2

ein
k
o
m

p
lexer

V
ek

to
rra

u
m

,
d
a
n

n
g
ib

t
es

ein
λ
∈
C

m
it

A
=
λ

1
V

(g
ilt

a
u

ch
fü

r
u

n
en

d
lich

e
G

ru
p

p
en

).
Ï

4
.3

.2
O

rth
o
g
o
n

alitätsrelatio
n

en

M
it

H
ilfe

vo
n

Satz
4

.3
erh

alten
w

ir
w

eitere
R

elatio
n

en
,d

ie
vo

n
p

rak
tisch

em
N

u
tz

en
sin

d
.

4
.4

T
h

eo
rem

Seien
D
(i):G

→
G

L(V
i),i=

1,2
irred

u
zib

le
D

a
rstellu

n
g
en

vonG
u

n
d
B

:V
1→

V
2

ein
e

b
elieb

ig
e

lin
ea

re
A

b
b
ild

u
n

g
.Sei

fern
er

A
=
1|G|

∑g∈G
D
(2)(g

−
1)B
D
(1)(g

):V
1→

V
2

V
1

V
2

V
1

V
2

D
(1)(g

)

A

D
(2)(g −

1)

B

D
a

n
n

g
ilt:

1.
Fa

lls
D
(1)

u
n

d
D
(2)

n
ich

t
ä

q
u

iva
len

t
sin

d
,istA

=
0

.

2.
Fa

lls
D
=
D
(1)=

D
(2)

u
n

d
V
=
V
1=

V
2,so

ist

A
=
λ

1
V

m
it
λ
=

1
g
rD

trB
.

(4
.17)Ï

4
0

20
16

-0
1-14



5.
3

|
Ü

b
e

r
g

a
n

g
s
m

a
t

r
ix

e
l

e
m

e
n

t
e

u
n

d
A

u
s
w

a
h

l
r

e
g

e
l

n

5
.2

.2
St

ö
ru

n
g
sr

ec
h

n
u

n
g

U
n

se
r

A
u

sg
an

gs
p

u
n

k
t

is
t

ei
n

H
am

il
to

n
o
p

er
at

o
r,

d
er

au
s

ei
n

em
ge

st
ö
rt

en
u

n
d

u
n

ge
st

ö
rt

en
A

n
te

il
b

es
te

h
t

H
=
H
0
+
H
1
.

D
ab

ei
h

at
H
0

d
ie

Sy
m

m
et

ri
e
G 0

u
n

d
H
1

d
ie

Sy
m

m
et

ri
e
G 1

.
D

as
E
n

er
g
ie

n
iv

ea
u
E 0

vo
n
H
0

is
t

en
ta

rt
et

.S
p

al
te

t
es

m
it

d
er

St
ö
ru

n
g

au
f?

5
.2

.2
.1
G 1
=
G
0

Es
g
ib

t
d

re
i

Fä
ll

e
z
u

u
n

te
rs

ch
ei

d
en

.

1.
D

er
U

n
te

rr
au

m
V
(E
9
)

z
u

m
Ei

ge
n

w
er

t
E 0

ge
h

ö
rt

z
u

ei
n

er
ir

re
d

u
zi

b
le

n
D

ar
st

el
lu

n
g

vo
n

G.
D

.h
.H

1
ve

ru
rs

ac
h

t
n

u
r

ei
n

e
En

er
g
ie

ve
rs

ch
ie

b
u

n
g
.

2.
D

er
En

ta
rt

u
n

g
sr

au
m

is
t

re
d

u
zi

b
el

,a
b

er
je

d
e

D
ar

st
el

lu
n

g
k
o
m

m
t

n
u

r
ei

n
M

al
vo

r:

V
(E
0
)
=

k ⊕ α
=1
V
(k
)
.

D
ie

St
ö
rm

at
ri

x
is

t
d

ia
g
o
n

al
.

E
s

li
eg

t
ei

n
e

z
u

fä
ll

ig
e

E
n

ta
rt

u
n

g
vo

r.
D

ie
se

w
ir

d
im

al
lg

em
ei

n
en

d
u

rc
h

d
ie

St
ö
ru

n
g
H
1

au
fg

eh
o
b

en
.

3.
D

er
E
n

ta
rt

u
n

g
sr

au
m

is
t

re
d

u
z
ib

el
,
ab

er
ei

n
e

D
ar

st
el

lu
n

g
k
o
m

m
t

m
eh

rf
ac

h
vo

r.
E
s

m
ü

ss
en

U
n

te
rm

at
ri

z
en

d
er

Fo
rm

(?
?)

d
ia

g
o
n

al
is

ie
rt

w
er

d
en

.

5
.2

.2
.2
G 1
<
G
0

D
ie

D
ar

st
el

lu
n

g
D
(α
)

0
is

t
i.
a.

fü
r

d
ie

G
ru

p
p

e
G 1

re
d

u
z
ib

el
,v

g
l.

(?
?)

.

D
(α
)

0
=

k ⊕ β
=1
n
β
D
(β
)

1
.

A
u

fs
p

al
tu

n
g

in
∑
k β
=1
n
β

T
er

m
e.

V
o
rg

eh
en

w
ie

in
5.

2.
2.

1
2

u
n

d
3.

5
.3

Ü
b

er
g
an

g
sm

at
ri

x
el

em
en

te
u

n
d

A
u

sw
ah

lr
eg

el
n

A
u

sg
an

gs
p

u
n

k
t

is
t

ei
n

H
am

il
to

n
o
p

er
at

o
r
H
0

m
it

Ei
ge

n
z
u

st
än

d
en
|a
〉u

n
d
|b
〉.

Ei
n

sc
h

al
te

n
ei

n
er

St
ö
ru

n
g
,z

.B
.e

in
e

el
ek

tr
o
m

ag
n

et
is

ch
e

W
el

le
z
u

m
Z

ei
tp

u
n

k
t
t
=
0.

H
1
(t
)
=
Θ
(t
)[
F

eiω
t
+
F
† e
−i
ω
t]

(5
.2

8
a)

D
ie

Ü
b

er
g
an

g
sr

at
e

b
er

ec
h

n
et

si
ch

z
u

Γ a
→
b
=
2π �

[ δ
(E
b
−
E a
−
�
ω
)|〈
b
|F
|a
〉|2
+
δ(
E b
−
E a
+
�
ω
)|〈
b
|F
|a
〉|2
]

(5
.2

8
b

)

6
0

20
16

-0
4

-2
0

D
a

r
s
t

e
l

l
u

n
g

e
n

|4

4
.5

T
h

eo
re

m
Fa

ll
s
D
(1
)

u
n

d
D
(2
)

n
ic

h
t

ä
q
u

iv
a

le
n

t
si

n
d

,s
o

g
il
t

fü
r

a
ll
e
i,
j,
k,
`

1 |G
|∑ g
∈G
D
(2
)

ik
(g
−1
)D

(1
)

`j
(g
)
=
0
.

(4
.1

8
) Ï

4
.6

T
h

eo
re

m
Fa

ll
s
D
=
D
(1
)
=
D
(2
)

u
n

d
V
=
V
1
=
V
2
,s

o
g
il
t

g
r
D
|G
|
∑ g
∈G
D
ik
(g
−1
)D

`j
(g
)
=
δ i
jδ
k`
.

(4
.1

9
) Ï

Z
u

sa
m

m
en

fa
ss

u
n

g
:

1 |G
|∑ g
∈G
D
(α
)

ik
(g
−1
)D

(β
)

`j
(g
)
=

1
g
r
D
(α
)
δ α
β
δ i
jδ
k`

(4
.2

0
)

o
d

er
sp

ez
ie

ll
fü

r
u

n
it

är
e

M
at

ri
z
en

1 |G
|∑ g
∈G
D
(α
)

ki
(g
)∗
D
(β
)

`j
(g
)
=

1
g
r
D
(α
)
δ α
β
δ i
jδ
k`

(4
.2

1)

D
ab

ei
h

ei
ß

t
α
=
β

id
en

ti
sc

h
,α

≠
β

n
ic

h
t

äq
u

iv
al

en
t.

Ç

Si
n

d
D
(α
)

u
n

d
D
(β
)

äq
u

iv
al

en
t,

ab
er

n
ic

h
t

id
en

ti
sc

h
,s

o
g
il

t
m

it

D
(α
)
=
S−

1
D
(β
) S

1 |G
|∑ g
∈G
D
(α
)

ki
(g
)∗
D
(β
)

`j
(g
)
=

1
g
r
D
(α
)
S `
k
S−

1
ij

(4
.2

2)

4
.3

.3
Sa

tz
v

o
n

B
u

rn
si

d
e

Fü
r

d
ie

G
ra

d
e

d
er

äq
u

iv
al

en
te

n
ir

re
d

u
z
ib

le
n

D
ar

st
el

lu
n

g
en

vo
n
α

g
il

t:

(g
r
D
(1
) )
2
+
(g

r
D
(2
) )
2
+
··
·(

g
r
D
(r
) )
2
=
|G
|.

(4
.2

3)

D
ie

s
is

t
ei

n
w

ic
h

ti
ge

s
W

er
k
z
eu

g
u

m
z
u

b
es

ti
m

m
en

w
ie

vi
el

e
ir

re
d

u
z
ib

le
D

ar
st

el
lu

n
ge

n
es

g
ib

t.

4
.4

C
h

ar
ak

te
re

D
ie

D
ar

st
el

lu
n

g
sm

at
ri

z
en

w
er

d
en

o
ft

n
ic

h
t

b
en

ö
ti

g
t,

w
ei

l
ei

n
fa

ch
er

e
R

el
at

io
n

en
re

ic
h

en
(C

h
ar

ak
te

re
).

20
16

-0
1-

14
4

1



A
n

w
e

n
d

u
n

g
e

n
v

o
n

G
r

u
p

p
e

n
u

n
d

d
e

r
e

n
D

a
r

s
t

e
l

l
u

n
g

e
n

in
d

e
r

P
h

y
s
ik

|5

5
.3

T
h

eo
rem

Seien
{v

αm
∈
V
,m

=
1,...,d

α }
u

n
d
{w

βn ∈
V
,n
=
1,...,d

β }
B
a
sisvek

to
ren

zu
d

en
irred

u
zib

len
u

n
itä

ren
D

a
rstellu

n
g
en
α

u
n

d
β

von
G

,so
g
ilt

〈v
αm |v

βn 〉=
δ
α
,β δ

m
,n C

(α
)

w
ob

eiC
(α
)

n
ich

t
von

d
er

Z
eile

d
er

D
a

rstellu
n

g
m
=
n

a
b
h

ä
n

g
t.

Ï

B
e
w

e
is

〈v
αm |w

βn 〉=
1|G|

∑g∈G 〈D
(g
)v

αm |D
(g
)w

βn 〉

=
1|G|

∑g∈G ∑r,s D
∗
(α
)

rm
(g
)D

(β
)

sn
(g
)〈v

αm |w
βn 〉

(4
.21)
=
δ
α
β δ
m
n
1d
α

∑r
〈v

αr |w
βr 〉

︸
︷︷

︸
=
C
(α
)

(5.26
)

w
o
b

eiD
(g
)

alle
D

arstellu
n

g
en

en
th

ält.
D

er
K

o
effi

z
ien

t
C
(α
)

h
eiß

t
red

u
z
iertes

M
atrixele-

m
en

t.
�

Fo
lg

eru
n

g
fü

r
d

as
Eig

en
w

ertp
ro

b
lem

:Setz
e

v
(α
)

m
=
|e
(α
)

im
〉

w
(β
)

n
=
H
|e
(β
)

jn 〉
so

fo
lg

t
m

it
(5.26

)
〈e
(β
)

jn |e
(β
)

jn 〉=
δ
α
,β δ

m
,n C

(α
)

ij
(5.27)

D
as

M
atrixelem

en
t

h
än

gt
n

ich
t

vo
n

Z
äh

lin
d

ex
m
=
n

d
er

V
ek

to
ren

in
n

erh
alb

d
er

U
n

terräu
-

m
e
V
(α
)

n
ab

.Fo
lgich

gilt
m

it|e
(α
)

n
α
m 〉

jew
eils

Z
eilen

au
s

allen
V

ielfach
h

eiten
.A

ls
K

o
n

seq
u

en
z

erg
ib

t
sich

:

ñ
H
n
α
m

jew
eils

Z
eilen

au
s

allen
V

ielfach
h

eiten
.A

ls
K

o
n

seq
u

en
z

erg
ib

t
sich

:

ñ
H
α
,α

ist
au

s
d
α

id
en

tisch
en

B
lö

ck
en

au
fg

eb
au

t.

ñ
M

an
erh

ält
n
α

(in
d

er
R

eg
el

versch
ied

en
e)

Eig
en

w
erte

E
(α
)

i

ñ
D

iese
sin

d
d
α
-fach

en
tartet

(id
en

tisch
e

M
atriz

en
)

ñ
D

ie
Sym

m
etrie

allein
u

n
terteilt

d
en

U
n

terrau
m
V
(α
)

n
ich

t
w

eiter.
W

ie
d

ie
Z

erle-
g
u

n
g

(5.23a)
au

ssieh
t,h

än
g
t

vo
m

H
am

ilto
n

o
p

erato
r
H

ab
.

Ein
B

eisp
iel:Im

freien
R

au
m

sin
d

d
ie
h

-Z
u

stän
d

e,also
Q

u
an

ten
z
ah

ll=
5

D
(5)

(5.19
b

)
=
E
⊕
2F

1 ⊕
F
2

en
tartet

im
k
u

b
isch

en
K

ristall
lau

tet
d

ie
Z

erlegu
n

g
d

es
U

n
terrau

m
s:D

am
it

existieren
vier

versch
ied

en
e

Eig
en

w
erte

d
er

M
atrix

H
(5).

20
16

-0
4

-20
59

4
.4

|
C

h
a

r
a

k
t

e
r

e

4
.4

.1
D

efi
n

itio
n

4
.5

D
efi

n
tio

n
SeiA

∈
C
n×
n

:
trA

=
∑
ni=
1 A

ii
h

eiß
t

Sp
u

r.
Ï

Erin
n

eru
n

g
:

ñ
lin

ear:

lin
ear:

tr(λ
1 A

1 +
λ
2 A

2 )=
λ
1

trb
m
A
1 +
λ
2

trA
2

(4
.24

)

ñ
B

asisu
n

ab
h

än
g
ig

k
eit

trA
=

tr(T
A
T
−
1)

(4
.25a)

ñ
M

it
Eig

en
w

erten
λ
i

vo
n
A

:

trA
=

n∑i=
1 λ

i
(4

.25b
)Ç

D
ie

Sp
u

r
ist

b
asisu

n
ab

h
än

g
ig

,also
fü

r
ein

en
En

d
o
m

o
rp

h
ism

u
s
A

trA
=

trA
(4

.26
)

Es
g
ilt:

tr(A
B
)=

tr(B
A
)

(4
.27)

4
.6

D
efi

n
tio

n
SeiD

:G
→

G
L(V

)
ein

e
D

a
rstellu

n
g

von
G

.D
ie

A
b
b
ild

u
n

g

χ
D

:G
→
C

g
,

tr(D
(g
))

h
eiß

t
C

h
a

ra
kter

von
D

.U
m

g
ekeh

rt
h

eiß
t

ein
e

A
b
b
ild

u
n

g

χ
:G
→
C

C
h

a
ra

kter
von

D
,
w

en
n

ein
e

D
a
rstellu

n
g

von
D

existiert
m

itχ
=
χ
D

.
D

er
C

h
a
ra

kter
ein

er
irred

u
zib

len
D

a
rstellu

n
g

h
eiß

t
irred

u
zib

el.
Ï

4
.4

.2
F
o
lg

eru
n

g
en

Ä
q

u
ivalen

te
D

arstellu
n

g
en

b
esitz

en
d

en
selb

en
C

h
arak

ter.B
ei

d
irek

ten
Su

m
m

en

χ
D
(1)⊕

D
(2) =

χ
D
(1) +

χ
D
(2) .

(4
.28

)

K
o
m

m
u

tativität
χ
D (g

h
)=

χ
D (h

g
)
.

(4
.29

)

B
ei

u
n

itären
D

arstellu
n

g
en

g
iltχ
(g
−
1)=

χ
∗(g
)
,
∀
g
∈
G

(4
.30

)

Es
g
ilt

χ
D (h

g
h
−
1)=

χ
D (g

)
.

(4
.31)

A
lle

Elem
en

te
in

ein
er

K
o
n

ju
gatio

n
sk

lasse
h

ab
en

d
en

selb
en

C
h

arak
ter.D

er
C

h
arak

ter
d

es
n

eu
tralen

Elem
en

ts
ist

d
ie

D
im

en
sio

n
d

er
D

arstellu
n

g

χ
D (e)=

g
rD
.

4
2

20
16

-0
1-21



5.
2

|
S

y
m

m
e

t
r

ie
r

e
d

u
k

t
io

n
d

e
s

E
ig

e
n

w
e

r
t

p
r

o
b

l
e

m
s

5
.2

.1
.1

Sy
m

m
et

ri
ea

n
g
ep

as
st

e
B

as
is

D
as

Z
ie

l
is

t
es

,d
ie

M
at

ri
x
H
kj

au
s

(5
.2

0
)

in
B

lo
ck

d
ia

g
o
n

al
fo

rm
z
u

b
ri

n
g
en

.

∗
∗

∗

. . .

        

        
0

0

D
az

u
z
er

le
g
t

m
an

d
en

H
il

b
er

tr
au

m
V

in
in

va
ri

an
te

T
ei

lr
äu

m
e

V
=

k ⊕ α
=1

n
α ⊕ i=
1

V
(α
)

i
(5

.2
1)

m
it

en
ts

p
re

ch
en

d
er

o
th

o
n

o
rm

al
B

as
is

n
ac

h
A

b
sc

h
n

it
t

4
.7

.3
,n

äm
li

ch
{ |
e(
α
)

ij
〉,
α
=
1,
..
.k
∧
i
=
1,
..
.n

α
∧
j
=
1,
..
.d
α

}
(5

.2
2)

B
eh

au
p

tu
n

g
:
W

en
n

d
ie
{|e

(α
)

ij
〉}

B
as

is
z
u

r
ir

re
d

u
z
ib

le
n

D
ar

st
el

lu
n

g
α

b
il

d
en

,
so

tu
n

d
as

au
ch

d
ie

V
ek

to
re

n
{H
|e
(α
)

ij
〉}

.

B
e
w

e
is

D
(g
)|
e(
α
)

ij
〉(5

.2
) =
d
α ∑ l=
1

|e
(α
)

ij
〉D

(α
)

ij
(g
)

(5
.2

3a
)

D
(g
)H
||
e(
α
)

ij
〉(5

.3
) =
H
D
(g
)|
e(
α
)

ij
〉(5

.2
3a

)
=

d
α ∑ l=
1

H
|e
(α
)

ij
〉D

(α
)

ij
(g
)

(5
.2

3b
)

D
ie

V
ek

to
re

n
H
|e
(α
)

ij
〉t

ra
n

sf
o
rm

ie
re

n
si

ch
n

ac
h

d
er

D
ar

st
el

lu
n

g
D
(α
) ,

si
n

d
al

so
ga

n
z

si
ch

er

H
|e
(α
)

ij
〉∈

V
(α
)
=
(α
) ∑ i=
1

V
(α
)

i
�

Ei
n

e
w

ic
h

ti
g
e

Fo
lg

er
u

n
g

d
ar

au
s

is
t,

d
as

s
d

ie
M

at
ri

xd
ar

st
el

lu
n

g
vo

n
H

in
B

lö
ck

e
z
er

fä
ll

t.

H
=

            H
11

}V
1

H
22

}V
2

. .
.

H
α
α

}V
α

. .
.

H
kk

}V
k

            

(5
.2

4
)

D
ab

ei
g
il

t
〈e
(α
)

ij
|H
|e
(β
)

kl
〉=

0
fü

r
α
≠
β

(5
.2

5)

D
ie

B
lö

ck
e
H
α
α

la
ss

en
si

ch
w

ie
d

er
ve

re
in

fa
ch

en
u

n
d

n
o
ch

ei
n

m
al

in
B

lö
ck

e
z
er

le
ge

n
,d

en
n

es
g
il

t

58
20

16
-0

4
-1

3

D
a

r
s
t

e
l

l
u

n
g

e
n

|4

4
.4

.3
O

rt
h

o
g
o
n

al
it

ät
sr

el
at

io
n

en

A
u

s
(4

.2
0

)
fo

lg
t
i
=
k

u
n

d
j
=
`

u
n

d
Su

m
m

at
io

n
ü

b
er

al
le

El
em

en
te

4
.7

T
h

eo
re

m
Se

ie
n
χ
(α
)

u
n

d
χ
(β
)

ir
re

d
u

zi
b
le

C
h

a
ra

kt
er

e,
d

a
n

n
g
il
t

1 |G
|∑ g
∈G
χ
(α
) (
g
−1
)χ
(β
) (
g
)
=
δ α
β

(4
.3

2)

b
zw

.f
ü

r
u

n
it

ä
re

D
a

rs
te

ll
u

n
g
en

1 |G
|∑ g
∈G
χ
(α
) (
g
)∗
χ
(β
) (
g
)
=
〈χ
(α
) |χ

(β
) 〉
=
δ α
β

(4
.3

3) Ï

D
as

h
at

w
ic

h
ti

g
e

K
o
n

se
q

u
en

z
en

m
it

p
ra

k
ti

sc
h

em
N

u
tz

en
.
W

ie
o
ft

is
t

ei
n

e
ir

re
d

u
z
ib

le
D

ar
st

el
lu

n
g

in
ei

n
er

u
n

it
är

en
D

ar
st

el
lu

n
g

en
th

al
te

n
?

N
ac

h
(4

.1
5)

D
=

k ⊕ α
=1
n
α
D
α
=
n
1
D
(1
)
⊕
n
2
D
(2
)
+
··
·

D
am

it
ab

er
au

ch

χ
=

k ∑ α
=1
n
α
χ
(α
)

(4
.3

4
)

U
n

d
so

m
it

:
n
α

(4
.3

3) =
〈χ
|χ
(α
) 〉

(4
.3

5)

W
an

n
si

n
d

z
w

ei
u

n
it

är
e

D
ar

st
el

lu
n

ge
n

äq
u

iv
al

en
t?

W
en

n
ih

re
C

h
ar

ak
te

re
ü

b
er

ei
n

st
im

m
en

fo
lg

t
n

ac
h

(4
.3

5)
d

ie
se

lb
e

Z
er

le
g
u

n
g

in
äq

u
iv

al
en

te
D

ar
st

el
lu

n
g
en

,
d

.h
.

d
an

n
si

n
d

d
ie

D
ar

st
el

lu
n

g
en

äq
u

iv
al

en
t.

W
an

n
is

t
ei

n
e

D
ar

st
el

lu
n

g
ir

re
d

u
z
ib

el
?

〈χ
|χ
〉(4

.3
4

)
=

(4
.3

2)

∑ α
n
2 α

al
so

g
en

au
d

an
n

,w
en

n
〈χ
|χ
〉=

1.

4
.4

.4
C

h
ar

ak
te

re
u

n
d

K
la

ss
en

Se
h

r
ei

n
fa

ch
fo

lg
t

au
s

(4
.3

1)
u

n
d

(4
.3

2)

4
.8

T
h

eo
re

m
G

b
es

it
ze
k g

K
on

ju
g
a
ti

on
sk

la
ss

en
m

it
je
m
1
,m

2
,.
..
,m

k g
E
le

m
en

te
n

u
n

d
|G
|=

∑
k g i=
1
m
i,

so
la

u
te

n
d

ie
O

rt
h

og
on

a
li
tä

ts
re

la
ti

on
en

1 |G
|k g ∑ i=

1

χ
(α
) (
g
−1 i
)χ
(β
) (
g
i)
m
i
=
δ α
β

(4
.3

6
)

N
u

r
d

ie
R

ep
rä

se
n

ta
n

te
n

w
er

d
en

b
en

öt
ig

t.
Ï

20
16

-0
1-

21
4

3



A
n

w
e

n
d

u
n

g
e

n
v

o
n

G
r

u
p

p
e

n
u

n
d

d
e

r
e

n
D

a
r

s
t

e
l

l
u

n
g

e
n

in
d

e
r

P
h

y
s
ik

|5

ñ
11

T
erm

au
fsp

altu
n

g
d

er
fü

n
f
d

-Z
u

stän
d

e.

Irred
u

z
ib

le
D

arstellu
n

g
d

er
SO
(3):D

`
m

it
G

rad
2l+

1
.
Im

k
u

b
isch

en
K

ristall
sin

d
d

ie
U

n
terräu

m
e

z
u
`

n
ich

t
m

eh
r

in
varian

t,
o
d

er
an

d
ers

au
sg

ed
rü

ck
t,

d
ie

D
arstellu

n
g
en
D
`

sin
d

,w
en

n
sie

au
f

d
ie

Sym
m

etrieelem
en

te
ein

gesch
rän

k
t

w
erd

en
,n

ich
t

m
eh

r
irred

u
z
ib

el.
Ein

e
Z

erleg
u

n
g

n
ach

d
en

irred
u

z
ib

len
D

arstellu
n

g
en

vo
n
O

n
ach

(4
.35)

ist
erfo

rd
erlich

.

n
(`)
α
=
1|O|

∑g∈O
χ
∗
(`)(g

)χ
(`)(g

)
,
α
∈
A
1 ,A

2 ,E
,F
1 ,F

2
(5.18

)

M
an

fi
n

d
et:

D
(0)=

A
1

b
leib

t
in

varian
t

(5.19
a)

D
(1)=

F
1

b
leib

t
in

varian
t

(5.19
b

)

D
(2)=

E
⊕
F
2

(5.19
c)

D
(3)=

A
2 ⊕
F
1 ⊕
F
2

(5.19
d

)

D
(4)=

A
1 ⊕
E
⊕
F
1 ⊕
F
2

(5.19
e)

D
(5)=

E
⊕
2F

1 ⊕
F
2

(5.19
f)

M
an

k
an

n
also

Fo
lg

en
d

es
au

s
d

er
Sym

m
etire

ab
lesen

:
D

ie
S

-
u

n
d
P

-Z
u

stän
d

e
b

leib
en

en
tartet,

sie
b

ild
en

au
ch

im
k
u

b
isch

en
K

ristall
ein

en
in

varian
ten

U
n

terrau
m

.
D

ie
fü

n
f
d

-
Z

u
stän

d
e

z
erfallen

in
ein

en
z
w

eid
im

en
sio

n
alen

u
n

d
ein

en
d

reid
im

en
sio

n
alen

U
n

terrau
m

,
d

.h
.es

g
ib

t
ein

e
T

erm
au

fsp
altu

n
g
.

5
.2

Sy
m

m
etriered

u
k

tio
n

d
es

E
ig

en
w

ertp
ro

b
lem

s

5
.2

.1
L
ö
sen

d
u

rch
D

iag
o
n

alisieren
ein

er
M

atrix
d

arstellu
n

g

W
äh

le
ein

e
b

elieb
ig

e
o
rth

o
n

o
rm

al
B

asis:|e
j 〉.D

an
n

g
ilt

H
|ψ
〉=

E|ψ
〉

∑j

〈e
k |H
|e
j 〉〈e

j |ψ
〉=

E〈e
k |ψ
〉

also
∑j

H
kj ψ

j =
E
ψ
k

(5.20
)

G
leich

u
n

g
(5.20

)
ist

ein
Eig

en
w

ertp
ro

b
lem

,w
elch

es
au

s
d

er
lin

earen
A

lg
eb

ra
b

ek
an

n
t

ist.
Frage:K

an
n

m
an

d
as

Eigen
w

ertp
ro

b
lem

(5.20
)
verein

fach
en

?
G

ib
t

es
ein

e
o
p

tim
ale

B
asis?

20
16

-0
4

-13
57

4
.4

|
C

h
a

r
a

k
t

e
r

e

O
h

n
e

B
ew

eis
m

u
ss

an
g
eg

eb
en

w
erd

en
:

4
.9

T
h

eo
rem

D
ie

Z
a
h

l
d
er

irred
u

zib
len

D
a
rstellu

n
g
en

ein
er

en
d
lich

en
G

ru
p
p
e

ist
g
leich

d
er

Z
a

h
l
ih

rer
K

on
ju

g
a

tion
skla

ssen
.

Ï

D
ies

ist
ein

b
em

erk
en

sw
ertes

E
rg

eb
n

is,
d

en
n

es
g
ib

t
k
ein

e
o
ff

en
sich

tlich
e

V
erw

an
d

t-
sch

aft
z
w

isch
en

K
o
n

ju
g
atio

n
sk

lassen
u

n
d

irred
u

z
ib

len
D

arstellu
n

g
en

.
D

er
B

ew
eis

erfo
r-

d
ert

d
ie

Fro
b

en
iu

s-A
lgeb

ra
u

n
d

d
ie

regu
läre

D
arstellu

n
g.Z

u
sam

m
en

m
it

(4
.23)

erh
ält

m
an

sch
o
n

viel
In

fo
rm

atio
n

ü
b

er
d

ie
D

arstellu
n

g
en

.

¸
B
eisp

iel
C
3v

b
esitz

t
sech

s
Elem

en
te|G|=

6
u

n
d

d
rei

K
lassen

k
g =

3
.
M

it
Satz

4
.9

u
n

d
(4

.23)
fo

lg
t

(g
rD

(1))
2+
(g

rD
(2))

2+
(g

rD
(3))=

6

D
ie

ein
z
ig

e
Lö

su
n

g
ist

ñ
1-d

im
D

arstellu
n

g
2×

ñ
2-d

im
D

arstellu
n

g
1×

µ

Ein
e

w
eitere

O
rth

o
g
o
n

alitätsrelatio
n

fo
lg

t
au

s
(4

.36
).

1|G|
k
g
∑i=
1 χ

(α
)(g

−
1
i
)χ
(β
)(g

i )m
i

(4
.36

)
=
δ
α
β

k
g
∑i=
1 χ

(α
)(g

−
1
i
) ∑β

m
i

|G| χ
(β
)(g

i )χ
(β
)(g

−
1
j
)

︸
︷︷

︸
δ
ij

=
χ
(α
)(g

−
1
j
)

also
∑β

χ
(β
)(g

i )χ
(β
)(g

−
1
j
)=

|G|
m
i δ

ij
(4

.37)

4
.4

.5
D

ie
reg

u
läre

R
ech

tsd
arstellu

n
g

4
.7

D
efi

n
tio

n
D

ie
reg

u
lä

re
R

ech
tsd

a
rstellu

n
g

ist
d

efi
n

iert
d

u
rch

d
ie

M
a

trizen

R
ij (g

)=
δ(g

i g
g
−
1
j
)

(4
.38

a)

m
it

δ(h
)=


1

fa
lls
h
=
e

0
son

st
(4

.38
b

)Ï
D

ie
reg

u
läre

R
ech

tsd
arstellu

n
g

b
esteh

t
au

s
(i.a.

seh
r

g
ro

ß
en

,
d

.h
.

so
g
ro

ß
w

ie
d

ie
G

ru
p

p
en

tafel)
M

atriz
en

.Ih
re

C
h

arak
tere

sin
d

χ
R (g
)

(4
.38

)
=

|G|
∑i=
1 δ(g

i g
g
−
1
i
)=


1

falls
h
=
e

0
so

n
st

(4
.39

)

D
ie

regu
läre

R
ech

tsd
arstellu

n
g

en
th

ält
alle

irred
u

z
ib

len
D

arstellu
n

gen
ein

er
G

ru
p

p
e,es

g
ilt

so
g
ar

(o
.B

.):

4
4

20
16

-0
1-21



5.
1

|
E

n
t

a
r

t
u

n
g

e
n

in
S

p
e

k
t

r
e

n

5
.1

.3
.3

Sp
ez

ia
lf

al
l

C
o
u

lo
m

b
-P

o
te

n
ti

al

V
=
α
/r

h
at

k
ei

n
Sp

ek
tr

u
m

d
er

Fo
rm

(5
.1

2)
u

n
d

h
än

g
t

n
ic

h
t

vo
n
l

ab

H
=

    E n
l1
n
1

E n
l1
n
2

. .
.    

E

1s

2s
2p

3s
3p
3d

Z
u

fä
ll

ig
e

En
ta

rt
u

n
g?

N
ei

n
!E

s
li

eg
t

ei
n

e
h

ö
h

er
e

Sy
m

m
et

ri
e

vo
r.

Z
u

sä
tz

li
ch

e
Er

h
al

tu
n

gs
gr

ö
ß

e
is

t
d

er
R

u
n

g
e-

Le
n

z
-O

p
er

at
o
r:

Λ
=

1
2α
m
(p
×
l−
l×
p
)
−
r |r
|

(5
.1

3)

Es
g
il

t
n

äm
li

ch
[H
,Λ

i]
=
0

(5
.1

4
)

W
el

ch
e

Sy
m

m
et

ri
e

li
eg

t
vo

r?
D

az
u

fü
h

rt
m

an
ei

n
:

J 1
=
1 2

( l+
Λ

√ −
2H
/m

)
(5

.1
5a

)

J 2
=
1 2

( l−
Λ

√ −
2H
/m

)
(5

.1
5b

)

[J
1,
i,
J 1
,j
]
=

i�
ε i
jk
J 1
,k

(5
.1

6
a)

[J
2,
i,
J 2
,j
]
=

i�
ε i
jk
J 2
,k

(5
.1

6
b

)

[J
1,
i,
J 2
,j
]
=
0

(5
.1

6
c)

Je
d

er
d

er
V

ek
to

re
n
J 1

,
J 2

b
il

d
et

o
ff

en
si

ch
tl

ic
h

ei
n

e
SU
(2
)-

A
lg

eb
ra

,
b

ei
d

e
k
o
m

m
u

ti
er

en
.

D
ie

Sy
m

m
et

ri
eg

ru
p

p
e

d
es

H
-A

to
m

s
is

t
al

so

i×
SU
(2
)
×

SU
(2
)
�

O
(4
)
.

(5
.1

7)

5
.1

.4
W

ei
te

re
s

B
ei

sp
ie

l
(T

ei
lc

h
en

im
K

ri
st

al
lf

el
d

)

A
u

sg
an

g
ss

it
u

at
io

n
:

A
to

m
im

fr
ei

en
R

au
m

O
(3
)-

Sy
m

m
et

ri
e.

W
ir

d
in

ei
n

en
K

ri
st

al
l

m
it

k
u

b
is

ch
er

Sy
m

m
et

ri
e

ei
n

g
eb

u
n

d
en

.D
ie

Sy
m

m
et

ri
eg

ru
p

p
e

is
t

n
u

n
O
<

O
(3
).

A
u

s
T

ab
el

le
n

en
tn

im
m

t
m

an
,d

as
s

es
fo

lg
en

d
e

ir
re

d
u

z
ib

le
D

ar
st

el
lu

n
g
en

g
ib

t:

A
1
:
G

ra
d

1

A
2
:
G

ra
d

1

E
:
G

ra
d

2

F 1
:
G

ra
d

3

F 2
:
G

ra
d

3

56
20

16
-0

4
-1

3

D
a

r
s
t

e
l

l
u

n
g

e
n

|4

4
.1

0
T

h
eo

re
m

D
ie

V
ie

lf
a

ch
h

ei
t

d
er

ir
re

d
u

zi
b
le

n
D

a
rs

te
ll
u

n
g
D
(α
)

in
d

er
re

g
u

lä
re

n
R

ec
h

ts
d

a
r-

st
el

lu
n

g
R

is
t
n
α
=

g
r
D
(α
) .

Ï

V
or

si
ch

t!
D

ie
D

ar
st

el
lu

n
g
en
D
(α
)

si
n

d
,
i.
a.

n
ic

h
t

in
B

lo
ck

fo
rm

in
R

en
th

al
te

n
.
Si

e
k
ö
n

n
en

n
ic

h
t

ei
n

fa
ch

au
s
R

ab
g
el

es
en

w
er

d
en

.W
ie

d
as

g
el

in
g
t

fo
lg

t
sp

ät
er

.
Ç

4
.4

.6
B

ei
sp

ie
l:

Z
y

k
li

sc
h

e
G

ru
p

p
en

4
.4

.6
.1

A
ll

g
em

ei
n

Z
yk

li
sc

h
e

G
ru

p
p

en
h

ab
en
|G
|K

o
n

ju
ga

ti
o
n

sk
la

ss
en

m
it

je
ei

n
em

El
em

en
t.

A
ls

o
n

ac
h

(4
.2

3)
:

|G
| ∑ i=
1(

g
r
D
(i
) )
2
=
|G
|

Es
g
ib

t
|G
|e

in
d

im
en

si
o
n

al
e

D
ar

st
el

lu
n

g
en

.
D

a
al

le
D

ar
st

el
lu

n
g
en

ei
n

d
im

en
si

o
n

al
si

n
d

,g
il

t
fü

r
d

ie
C

h
ar

ak
te

re
vo

n
g

m
it
g
|G
| =
e:

χ
(α
) (
g
|G
| )
=
( χ
(α
) (
g
))
|G
| =
χ
(α
) (
e)
=
1

(4
.4

0
a)

al
so

χ
(α
) (
g
)
=

|G
|√ 1

(4
.4

0
b

)

ei
n

e
(!
)

d
er
|G
|-t

en
W

u
rz

el
vo

n
1.

4
.4

.6
.2

B
ei

sp
ie

l:
C
3

C
3
=
{c
3
,c
2 3
,e
},

3√ 1
=
1,

e2
π

i/
3
,e
4π

i/
3

D
ie

C
h

ar
ak

te
rt

af
el

la
u

te
t

e
c 3

c2 3

χ
(1
)
1

1
1

χ
(2
)
1

e2
π

i/
3

e4
π

i/
3

χ
(3
)
1

e4
π

i/
3

e2
π

i/
3

4
.4

.6
.3

B
ei

sp
ie

l:
T

ra
n

sl
at

io
n

si
n

v
ar

ia
n

z
au

f
ei

n
em

G
it

te
r

T
ra

n
sl

at
io

n
en

t(
a
)
,
t(
`a
)
=
t(
a
)`

(4
.4

1a
)

t(
`a
)ψ
(x
)
=
ψ
(x
−
`a
)

(4
.4

1b
)

P
er

io
d

is
ch

e
R

an
d

b
ed

in
g
u

n
g
en

t(
N
a
)ψ
(x
)
=
ψ
(x
)

(4
.4

2a
)

t(
N
a
)
=
e

(4
.4

2b
)

20
16

-0
1-

21
4

5



A
n

w
e

n
d

u
n

g
e

n
v

o
n

G
r

u
p

p
e

n
u

n
d

d
e

r
e

n
D

a
r

s
t

e
l

l
u

n
g

e
n

in
d

e
r

P
h

y
s
ik

|5

w
o
b

eili
d

ie
K

o
m

p
o
n

en
ten

d
es

D
reh

im
p

u
lses

sin
d

m
it

[li ,lj ]=
i�
ε
ijk lk

.
(5.8

)

D
an

n
vertau

sch
t
H

ab
er

au
ch

m
it

d
en

O
p

erato
ren

R
(n̂
,ϕ
)=

e −
in̂
lϕ
/�
.

(5.9
)

N
ach

(3.12)
sin

d
d

ies
d

ie
G

en
erato

ren
vo

n

SO
(3)=

SU
(2)/Z

2
.

Sym
m

etrieg
ru

p
p

e
vo

n
H

:

SO
(3)=

SU
(2)/Z

2
.

(5.10
a)

o
d

er,w
eili

Sym
m

etrie
ist

O
(3)=

SO
(3)×

i
(5.10

b
)

5
.1.3

.2
Irred

u
z
ib

le
D

arstellu
n

g
en

im
H

ilb
ertrau

m
v

o
n

(5.6
)

W
issen

au
s

d
er

Q
u

an
ten

m
ech

an
ik

:H
am

ilto
n

o
p

erato
r

u
m

sch
reib

en
in

H
=
−
�
2

2m

(
d
2

dr
2 +

2r
ddr )

+
l 2

2m
r
2 +

V
(|r|)

(5.11)

E
s

g
ib

t
g
em

ein
sam

e
E
ig

en
z
u

stän
d

e
z
u
l 2

u
n

d
lz :|lm

〉.
(5.11)

h
än

g
t

n
ich

t
vo

n
m

ab
,
ab

er
vo

n
l.A

lso
h

än
g
en

au
ch

d
ie

En
erg

ien
vo

n
l

ab
:E

n
l .

Fo
lg

lich
:In

varian
te

U
n

terräu
m

e
w

erd
en

vo
n

allen
m

z
u

ein
em
l

au
fg

esp
an

n
t

ñ
1-d

im
en

sio
n

al:E
n
0 |0,0〉

ñ
3-d

im
en

sio
n

al:E
n
1 |1,−

1〉,|1,0〉,|1,1〉

ñ
5-d

im
en

sio
n

al:E
n
2 |2,−

2〉,|2,−
1〉,|2,0〉,|2,1〉,|2,2〉

Es
g
ib

t
also

1-,3-,5-,...d
im

en
sio

n
ale

D
arstellu

n
g
en

.

H
=



E
n
0

E
n
1 1
3×
3

E
n
2 1
3×
3

... 

E

1s 2s

2p 3s

(5.12)

20
16

-0
4

-0
6

55

4
.5

|
R

e
e

l
l

e
D

a
r

s
t

e
l

l
u

n
g

e
n

M
issin

g

fi
g
u

re

ñ
10

G
itter

m
it

G
itterk

o
n

stan
te
a

.

Z
yk

lisch
e

G
ru

p
p

e
m

it
D

arstellu
n

g
=

C
h

arak
teren

χ
(α
)(t(`a

))
(4

.4
0

b
)

=
e −
2π

iα
`/N

(4
.4

3)

Sch
reib

e

k
=
αN
2πa

(4
.4

4
a)

χ
(α
)(t(`a

))
(4

.4
3)
=(4
.4

4
a) χ

(k)(t(`a
))=

e
ik`a

(4
.4

4
b

)

In
d

er
irred

u
z
ib

len
D

arstellu
n

g
k

g
ilt

d
an

n
fü

r
d

ie
B

asisfu
n

k
tio

n
en

t(`a
)ψ

k (x
)=

ψ
k (x

−
`a
)

(4
.4

4
b

)
=

e
ik`aψ

k (x
)

(4
.4

5)

D
ies

erm
ö
g
lich

t
d

as
Ein

fü
h

ren
vo

nψ
k (a
)=

e −
ikxM

k (x
)

(4
.4

6
a)

w
o
b

ei
M
k (x

−
a
)

(4
.4

6
a)
=

e
ik(x−

a
)ψ

k (x
−
a
)

(4
.4

5)
=

e
ikxψ

k (x
)

(4
.4

6
a)
=

M
k (x
)

(4
.4

6
b

)

D
ies

ist
d

as
B

lo
ch

-T
h

eo
rem

.

4
.5

R
eelle

D
arstellu

n
g
en

O
ft

in
teressieren

in
d

er
P
h

ysik
reelle

D
arstellu

n
gen

.O
b

es
d

iese
gib

t,en
tsch

eid
et

sich
an

fo
lg

en
d

en
K

riterien
n

ach
Fro

b
en

iu
s

u
n

d
Sch

u
r

fü
r

irred
u

z
ib

le
D

arstellu
n

g
en
D

:

1.
D

reell
b

z
w

.k
an

n
d

u
rch

u
n

itäre
T

ran
sfo

rm
atio

n
en

in
reelle

Fo
rm

geb
rach

t
w

erd
en

,
w

en
n

g
ilt:

1|G|
∑g∈G
χ
(g

2)=
+
1

(4
.4

7a)

4
6

20
16

-0
1-21



5.
1

|
E

n
t

a
r

t
u

n
g

e
n

in
S

p
e

k
t

r
e

n

5
.2

T
h

eo
re

m
Se

iW
E

Ei
g
en

ra
u

m
zu

m
H

a
m

ilt
on

op
er

a
to

r
H

m
it

Ei
g
en

w
er

t
E

u
n

d
B
a

si
s
{|ψ

1
〉,
..
.,
|ψ

n
〉}

,
d
.h

.
H
|ψ

i〉
=
E
|ψ

i〉,
i
=
1,
..
.,
n

.
E
s

w
ir

k
e

ei
n

e
G

ru
p
p
e
G

a
u

f
d
en

H
il
b
er

tr
a
u

m
u

n
te

r
d
er

H
in

va
ri

a
n

t
is

t.
Ï

D
an

n
g
il

t:
H
D
(g
)|
ψ
i〉
=
D
(g
)H
|ψ

i〉
=
E
D
(g
)|
ψ
i〉
.

((
5.

4
))

So
m

it
D
(g
)|
ψ
i〉
∈
W
E

u
n

d
k
an

n
n

ac
h

d
es

se
n

B
as

is
en

tw
ic

k
el

t
w

er
d

en

D
(g
)|
ψ
i〉
=

n ∑ j=
1

|ψ
i〉
D
ij
(g
)
.

(5
.5

)

D
.h

.
W
E

is
t

in
va

ri
an

te
r

U
n

te
rr

au
m

z
u
G

u
n

d
{|ψ

i〉}
is

t
B

as
is

z
u

ei
n

er
D

ar
st

el
lu

n
g

vo
n
G

m
it

D
ar

st
el

lu
n

g
sm

at
ri

x
D

.
W

ic
h

ti
g
e

U
n

te
rs

ch
ei

d
u

n
g

1.
W
E

is
t

ec
h

te
r

in
va

ri
an

te
r

U
n

te
rr

au
m

,
al

so
W
E
=
V
(α
)

n
ac

h
Sa

tz
5.

1.
D

ie
E
n

ta
rt

u
n

g
is

t
sy

m
m

et
ri

eb
ed

in
g
t

u
n

d
g
il

t
im

m
er

,
so

la
n

g
e
[D
(g
),
H
]
=
0

fü
r

al
le
g
∈
G.

D
er

m
ax

im
al

e
E
n

ta
rt

u
n

g
sg

ra
d

ei
n

es
E
n

er
g
ie

n
iv

ea
u

s
is

t
d

m
ax
=

g
r
D

m
ax

,
w

o
b

ei
D

m
ax

d
ie

ir
re

d
u

z
ib

le
D

ar
st

el
lu

n
g

vo
n
G

m
it

d
er

m
ax

im
al

en
D

im
en

si
o
n

is
t.

2.
W
E

is
t

re
d

u
z
ib

el
,

al
so
W
E
=
⊕
α
n
α
V
(α
) .

Z
u

fä
ll

ig
e

E
n

ta
rt

u
n

g
(z

w
ei

m
al

d
er

g
le

ic
h

e
Ei

g
en

w
er

t
λ 1

)

H
=
  λ 1

D
(1
)

λ 1
D
(2
)

λ 3
D
(3
)  
.

B
ei

sp
ie

l:
A

to
m

im
M

ag
n

et
fe

ld E

B

Z
u

fä
ll

ig
e

En
ta

rt
u

n
g

b
ei

g
en

au
ei

n
em

W
er

t
B

5
.1

.3
St

an
d

ar
d

b
ei

sp
ie

l:
T

ei
lc

h
en

im
Z

en
tr

al
p

o
te

n
ti

al

5
.1

.3
.1

H
am

il
to

n
o
p

er
at

o
r

H
=
p
2

2m
+
V
(|r
|)

(5
.6

)

d
an

n
[H
,l
i]
=
0

(5
.7

)

54
20

16
-0

4
-0

6

D
a

r
s
t

e
l

l
u

n
g

e
n

|4

2.
D

is
t

äq
u

iv
al

en
t

z
u

se
in

em
k
o
n

ju
g
ie

rt
K

o
m

p
le

xe
n
D
∗ ,

k
an

n
ab

er
n

ic
h

t
in

re
el

le
Fo

rm
g
eb

ra
ch

t
w

er
d

en
w

en
n

1 |G
|∑ g
∈G
χ
(g

2
)
=
−1

(4
.4

7b
)

3.
D

is
t

g
en

au
d

an
n

n
ic

h
t

äq
u

iv
al

en
t

z
u
D
∗ ,

w
en

n

1 |G
|∑ g
∈G
χ
(g

2
)
=
0

(4
.4

7c
)

M
an

k
an

n
ab

er
im

m
er

ei
n

e
re

el
le

D
ar

st
el

lu
n

g
au

s
z
w

ei
n

ic
h

t-
re

el
le

n
g
ew

in
n

en
(n

ic
h

t
m

eh
r

ir
re

d
u

z
ib

el
).

1 √ 2

(
1

1
−i

i)
( D

0
0

D
∗)

1 √ 2

( 1
i

1
−i

)
=
1 2

(
D
+
D
∗

i(
D
−
D
∗ )

−i
(D
−
D
∗ )

D
+
D
∗

)
(4

.4
8
)

4
.6

P
ro

d
u

k
t

v
o
n

D
ar

st
el

lu
n

g
en

u
n

d
C

le
b

sc
h

-G
o
rd

an
-R

ei
h

e

4
.6

.1
P
ro

d
u

k
td

ar
st

el
lu

n
g
en

W
ir

b
et

ra
ch

te
n

P
ro

d
u

k
tr

äu
m

e,
z
.B

. |ψ
〉=

ψ
(r
)
⊗
|↑
〉

ψ
(r
1
,r
2
,.
..
)
=
ψ
1
(r
1
)
⊗
ψ
2
(r
2
)
⊗
··
·

A
ll

g
em

ei
n

x
=
∑ i,
j

x
ij
v
i
⊗
w
j
∈
V
⊗
W

(4
.4

9
)

A
u

f
d

ie
se

V
ek

to
re

n
w

ir
k
t

n
u

n
ei

n
e

P
ro

d
u

k
td

ar
st

el
lu

n
g
.

4
.1

1
T

h
eo

re
m

Se
iD

(α
)
:
G
→

G
L(
V
)

ei
n

e
ir

re
d

u
zi

b
le

D
a

rs
te

llu
n

g
vo

n
G

m
it

B
a

si
s
{v

(α
)

1
,.
..
,v
(α
)

n
}

u
n

d
D
(β
)
:
G
→

G
L(
W
)

ei
n

e
so

lc
h

e
m

it
B
a

si
s
{w

(β
)

1
,.
..
,v
(β
)

m
}.

D
a

n
n

is
t

d
ie

Pr
od

u
kt

d
a

rs
te

llu
n

g

D
(α
⊗β
)
=
D
(α
)
⊗
D
(β
)
:
G
→

G
L(
V
⊗
W
)

(4
.5

0
)

ei
n

e
i.a

.
re

d
u

zi
b
le

D
a
rs

te
ll
u

n
g

a
u

f
d
em

P
ro

d
u

k
tr

a
u

m
V
⊗
W

m
it

B
a
si

s
{v

(α
)

i
⊗
w
(β
)

j
}u

n
d

d
en

M
a

tr
ix

el
em

en
te

n

[D
(α
) (
g
)
⊗
D
(β
) (
g
)]
rs
,i
j
=
D
(α
)

ri
(g
)D

(β
)

sj
(g
)

(4
.5

1)

N
a

m
e:

d
ir

ek
te

P
ro

d
u

kt
d

a
rs

te
ll
u

n
g
.C

h
a

ra
kt

er
e

χ
(α
⊗β
)

(4
.5

1) =
∑ i,
j

D
(α
)

ii
(g
)D

(β
)

jj
(g
)
=
χ
(α
) (
g
)χ
(β
) (
g
)

(4
.5

2) Ï

20
16

-0
1-

28
4

7



A
n

w
e

n
d

u
n

g
e

n
v

o
n

G
r

u
p

p
e

n
u

n
d

d
e

r
e

n
D

a
r

s
t

e
l

l
u

n
g

e
n

in
d

e
r

P
h

y
s
ik

|5

5
A

n
w

en
d

u
n

g
en

v
o
n

G
ru

p
p

en
u

n
d

d
eren

D
arstellu

n
g
en

in
d

er
P
h

y
sik

5
.1

E
n

tartu
n

g
en

in
Sp

ek
tren

5
.1.1

D
ie

Sy
m

m
etrie

ein
es

H
am

ilto
n

o
p

erato
rs

En
erg

ien
iveau

s
sin

d
Eig

en
w

erte
d

er
z
eitu

n
ab

h
än

g
ig

en
Sch

rö
d

in
g
erg

leich
u

n
g
.

H
|ψ
〉=

E|ψ
〉

m
it
|ψ
〉∈

V
=

H
ilb

ertrau
m

(5.1)

SeiG
ein

e
G

ru
p

p
e,d

ie
au

f
d

en
H

ilb
ertrau

m
V

w
irk

t.D
iese

W
irk

u
n

g
ist

leich
t

z
u

b
estim

-
m

en
,w

en
n

m
an

d
ie

W
irk

u
n

g
d

er
G

ru
p

p
e

au
f

d
en

O
rtsrau

m
k
en

n
t

(m
eist

Sym
m

etrieo
p

era-
tio

n
en

).

〈r|D
(g
)|ψ

i 〉=
(D
(g
)ψ

i )(r)=
〈D

†(g
)r|ψ

i 〉=
〈R
†(g
)r|ψ

i 〉
=
〈R
−
1(g
)r|ψ

i 〉=
ψ
i (R

−
1(g
)r)=

ψ
i (R
(g
−
1)r)

=
∑j

D
ij (g

)ψ
j (r)

(5.2)

D
ies

leg
t

d
ie

G
ru

p
p

en
elem

en
te
D
ij

ein
d

eu
tig

fest.
IstG

Sym
m

etrie
d

es
H

am
ilto

n
o
p

erato
rs

(D
efi

n
itio

n
2.9

)
m

u
ss

g
elten

H
D
(g
)=

D
(g
)H

o
d

er
D
(g
)H
D
−
1(g
)=

H
o
d

er
[H
,D
(g
)]=

0
fü

r
alle

g
∈
G

.(5.3)
u

n
d

d
am

itH
D
(g
)|ψ

E
i 〉=

D
(g
)H
|ψ

E
i 〉=

E
D
(g
)|ψ

E
i 〉
,
iÒ

En
tartu

n
g
sin

d
ex.

(5.4
)

5
.1.2

In
v

arian
te

U
n

terräu
m

e
u

n
d

E
n

tartu
n

g

5
.1

T
h

eo
rem

Sei
d
er

H
a
m

ilto
n

o
p
era

to
r
H

in
va

ria
n

t
u

n
ter

ein
er

G
ru

p
p
e
G

,
d
ie

a
u

f
sein

en
H

ilb
ertra

u
m
V

w
irk

t.
SeiV

(α
)

ein
ech

ter
in

va
ria

n
ter

U
n

terra
u

m
vo

n
V

zu
r

irred
u

zib
len

D
a

rstellu
n

g
D
(α
).

Ï

D
an

n
g
ilt

in
V
(α
)

w
eg

en
(5.3):

D
(α
)(g
)H
=
H
D
(α
)(g
)
∀
g
∈
G
.

N
ach

d
em

Sch
u

r-Lem
m

a
(Satz

4
.3)

fo
lg

t
in
V
(α
)

H
=
λ
α

id
V
(α
)

m
it
λ
α ∈

C
.

D
.h

.V
(α
)

ist
ein

Eigen
rau

m
vo

n
H

z
u

m
Eigen

w
ert
λ
α
.D

er
En

tartu
n

gsgrad
ist
d
α =

g
rD

(α
).

20
16

-0
4

-0
6

53

4
.6

|
P

r
o

d
u

k
t

v
o

n
D

a
r

s
t

e
l

l
u

n
g

e
n

u
n

d
C

l
e

b
s
c

h
-G

o
r

d
a

n
-R

e
ih

e

4
.6

.2
C

leb
sch

-G
o
rd

an
-R

eih
e

D
ie

P
ro

d
u

k
tb

asis
ist

n
ich

t
d

ie
ein

z
ig

m
ö
g
lich

e.
W

ech
selt

m
an

z
u

ein
er

n
eu

en
,
k
an

n
d

ie
P
ro

d
u

k
td

arstellu
n

g
in

ein
e

d
irek

te
Su

m
m

e
irred

u
z
ib

ler
D

arstellu
n

g
en

z
erleg

t
w

erd
en

.

D
(α
)⊗
D
(β
)=

⊕
γ
(α
β|γ
)D

(γ
)

(4
.53a)

m
it

d
en

R
ed

u
k
tio

n
sk

o
effi

z
ien

ten

(α
β|γ
)=
〈χ
(α
)χ
(β
)|χ

(γ
)〉=

1|G|
∑g∈G
χ
(α
)(g
) ∗χ

(β
)(g
) ∗χ

(γ
)(g
)

(4
.53b

)

M
an

sieh
t

so
fo

rt
(α
β|γ
)=

(β
α|γ

)
(4

.53c)

D
arau

s
fo

lg
t,d

ass
es

z
w

ei
Fo

rm
en

vo
n

D
arstellu

n
g
sm

atriz
en
D
(α⊗

β
)

g
ib

t

1.
in

d
er

n
atü

rlich
en

B
asis{v

(α
)

i
⊗
w
(β
)

j
}.

2.
in

d
er

au
sred

u
z
ierten

B
asis

(B
lo

ck
fo

rm
fü

r
irred

u
z
ib

le
A

n
teile).

n
ach

u
n

itärer
T

ran
sfo

rm
atio

n
(4

.53a).M
an

b
ez

eich
n

et
d

ie
B

asisvek
to

ren
m

it

u
(γ
,s)

k
,
s=

1,2,...,(α
β|γ
)

︸
︷︷

︸
V

ielfach
h

eit
d

er
D

arstellu
n

g

,
k
=
1,...,

A
n

z
ah

l
n

o
tw

.B
asisvek

to
ren

fü
r

d
ie

D
arstellu

n
g
γ

︷︸︸︷
D
(γ
)
.

(4
.54

)

D
ie

B
asistran

sfo
rm

atio
n

lau
tet

u
(γ
,s)

k
=

∑α
,i,β
,j v

(α
)

i
⊗
w
(β
)〈α
i,β
j|γ
sk〉

(4
.55)

m
it

d
en

C
leb

sch
-G

o
rd

an
-K

o
effi

z
ien

ten
〈α
i,β
j|γ
sk〉.D

ie
U

m
k
eh

ru
n

g
lau

tet

v
(α
)

i
⊗
w
(β
)

j
=
∑γ
,s,k u

(γ
,s)

k
〈γ
sk|α

i,β
j〉
.

(4
.56

)

B
esser

vertrau
t

au
s

d
er

Q
u

an
ten

m
ech

an
ik

ist
w

ah
rsch

ein
lich

d
ie

B
ra-K

et-N
o
tatio

n

|γ
sk〉=

∑α
i,β
j |α
i〉|β

j〉〈α
i,β
j|γ
sk〉

(4
.57a)

|α
i〉|β

j〉=
∑γ
,s,k |γ

sk〉〈γ
sk|α

i,β
j〉

(4
.57b

)

R
elatio

n
en

b
ei

O
rth

o
n

o
rm

alb
asen

:
∑γ
,s,k 〈α

i,β
j|γ
sk〉〈γ

sk|α
′i ′,β

′j ′〉=
δ
ii ′δ

jj ′δ
α
α
′δ
β
β ′

(4
.58

a)

∑α
i,β
j 〈γ
sk|α

i,β
j〉〈α

i,β
j|γ

′s ′k
′〉=

δ
γ
γ ′δ

ss ′δ
kk ′

(4
.58

b
)

〈γ
sk|α

i,β
j〉=

〈α
i,β
j|γ
sk〉

(4
.59

)

4
8

20
16

-0
1-28



4
.8

|
S

y
m

m
e

t
r

is
c

h
e

u
n

d
a

n
t

is
y

m
m

e
t

r
is

c
h

e
D

a
r

s
t

e
l

l
u

n
g

e
n

D
ie

se
r

k
o
m

m
u

ti
er

t
m

it
d

en
El

em
en

te
n

vo
n
G:

S(
D
⊗
D
)(
g
)v
i
⊗
w
i
=
S(
D
(g
)v
i
⊗
D
(g
)w

i)

=
S( ∑ k,

`

v
k
⊗
w
`
D
ki
(g
)D

j`
(g
))

=
∑ k,
`

v
`
⊗
w
k
D
ki
(g
)D

j`
(g
)

=
D
(g
)v
j
⊗
D
(g
)w

i

=
(D
⊗
D
)(
g
)(
v
j
⊗
w
i)

=
(D
⊗
D
)(
g
)S
(v
i
⊗
w
j)

3.
In

sg
es

am
t

w
ir

k
t

al
so

d
as

d
ir

ek
te

P
ro

d
u

k
t
G
×
S 2

.
D

ie
in

va
ri

an
te

n
U

n
te

rr
äu

m
e

vo
n

V
⊗
W

u
n

te
r
S 2

si
n

d

[V
⊗
W
] +
=
〈v
i
⊗
w
j
+
v
j
⊗
w
i〉

[V
⊗
W
] −
=
〈v
i
⊗
w
j
−
v
j
⊗
w
i〉

Si
e

si
n

d
au

ch
in

va
ri

an
t

u
n

te
r

d
er

W
ir

k
u

n
g

vo
n
G:

(D
⊗
D
)(
g
){
v
i
⊗
w
j
±
v
j
⊗
w
i}

=
v
k
D
ki
(g
)
⊗
w
`
D
`i
(g
)
±
v
k
D
kj
(g
)
⊗
w
`
D
`i
(g
)

=
v
k
⊗
w
`
{D

ki
(g
)D

`i
(g
)
±
D
kj
(g
)D

`i
(g
)}

=
{v

k
⊗
w
`
±
v
`
⊗
w
k
}1 2
{D

ki
(g
)D

`i
(g
)
±
D
kj
(g
)D

`i
(g
)}

vo
ll

st
äd

n
ig

e
Su

p
er

p
o
si

ti
o
n

vo
n

El
em

en
te

n
au

s
[V
⊗
W
] ±

.

52
20

16
-0

4
-0

6

D
a

r
s
t

e
l

l
u

n
g

e
n

|4

4
.7

M
et

h
o
d

e
d

er
P
ro

je
k

ti
o
n

so
p

er
at

o
re

n

B
is

h
er

w
is

se
n

w
ir

n
u

r,
d

as
s

D
ar

st
el

lu
n

g
en

in
ih

re
ir

re
d

u
z
ib

le
n

A
n

te
il

e
z
er

le
g
t

w
er

d
en

k
ö
n

n
en

.N
u

n
w

o
ll

en
w

ir
b

et
ra

ch
te

n
,w

ie
d

as
g
eh

t.

A
n

w
en

d
u

n
g
en

:
1.

Fi
n

d
en

al
le

r
ir

re
d

u
z
ib

le
n

D
ar

st
el

lu
n

ge
n

ei
n

er
G

ru
p

p
e

au
s

d
er

re
gu

-
lä

re
n

D
ar

st
el

lu
n

g
,v

g
l.

A
b

sc
h

n
it

t
4

.4
.5

.

2.
B

er
ec

h
n

en
d

er
C

le
b

sc
h

-G
o
rd

an
-K

o
effi

z
ie

n
te

n
in

(4
.5

5)
.

Ç

4
.7

.1
P
ro

je
k

ti
o
n

so
p

er
at

o
re

n

Se
i
V

ei
n

u
n

it
är

er
V

ek
to

rr
au

m
u

n
d
V
=
W
⊕
W
⊥ .

Fü
r
v
∈
V

g
il

t
d

ie
ei

n
d

eu
ti

g
e

Z
er

le
g
u

n
g

v
=
w
+
w
⊥

m
it
w
∈
W

,w
⊥
∈
W
⊥ .

D
er

O
p

er
at

o
r

P
:
V
→
V

Pv
=
w

(4
.6

0
)

h
ei

ß
t

P
ro

je
k
ti

o
n

so
p

er
at

o
r.

4
.1

2
T

h
eo

re
m

Fü
r

d
en

P
ro

je
k
ti

o
n

so
p
er

a
to

r
P

g
il
t
P2
=
P

(I
d
em

p
o
te

n
z)

,
P
=
P†

(s
el

b
st

a
d
ju

n
-

g
ie

rt
),

im
P
=
W

,k
er
P
=
W
⊥ ,
P
+
P⊥
=
1

m
it
P⊥
v
=
w
⊥ .

Is
t

u
m

g
ek

eh
rt

ei
n

id
em

p
ot

en
te

r,
se

lb
st

a
d
ju

n
g
ie

rt
er

O
p

er
a
to

r
P

:
V
→
V

g
eg

eb
en

,s
o

g
il
t

V
=

im
P
⊕

k
er
P,

im
P⊥

k
er
P.

Ï

4
.7

.2
P
ro

je
k

ti
o
n

en
u

n
d

D
ar

st
el

lu
n

g
en

4
.1

3
T

h
eo

re
m

Se
i
D

ei
n

e
en

d
li
ch

d
im

en
si

on
a

le
D

a
rs

te
ll
u

n
g

ei
n

er
G

ru
p

p
e
G

a
u

f
d

em
u

n
it

ä
re

n
V

ek
to

rr
a
u

m
V

,d
er

in
d
ie

in
va

ri
a
n

te
n

T
ei

lr
ä
u

m
e
W
1

u
n

d
W
2

ze
rf

ä
ll
t.

Se
i
P

ei
n

P
ro

je
kt

io
n

s-
op

er
a

to
r

a
u

f
W
1
.D

a
n

n
g
il
t

fü
r

a
ll
e
g
∈
G

D
(g
)P
=
PD
(g
)
,
[D
(g
),
P]
=
0

(4
.6

1) Ï

4
.1

4
T

h
eo

re
m

Se
i
D

ei
n

e
en

d
li
ch

d
im

en
si

on
a

le
D

a
rs

te
ll
u

n
g

ei
n

er
G

ru
p

p
e
G

a
u

f
d

em
u

n
it

ä
re

n
V

ek
to

rr
a

u
m
V

u
n

d
P

:
W
→
W

ei
n

Pr
oj

ek
ti

on
so

p
er

a
to

r
m

it
[D
(g
),
P]
=
0

fü
r

a
lle
g
∈
G,

so
b
il
d

en
im
P

u
n

d
k
er
P

in
va

ri
a

n
te

T
ei

lr
ä

u
m

e
vo

n
V

.
Ï

4
.1

5
T

h
eo

re
m

Se
i
W

ei
n

in
va

ri
a
n

te
r

T
ei

lr
a
u

m
u

n
d
P

ei
n

P
ro

je
k
ti

o
n

so
p
er

a
to

r
a
u

f
W

m
it

[D
(g
),
P]
=
0

fü
r

a
ll
e
g
∈
G.
D

is
t

g
en

a
u

d
a
n

n
a
u

f
W

ir
re

d
u

zi
b
el

,
w

en
n
P

n
ic

h
t

in
P
ro

je
k
to

re
n
P 1

,
P 2

m
it
P
=
P 1
+
P 2

,
[D
(g
),
P i
]
=
0,
i
=
1,
2,
g
∈
G,
P 1
P 2
=
P 2
P 1
=
0,

P i
≠
0

ze
rl

eg
t

w
er

d
en

ka
n

n
.

Ï

D
ie

Sä
tz

e
4

.1
3

u
n

d
4

.1
5

sa
g
en

u
n

s,
d

as
s

es
P
ro

je
k
to

re
n

au
f

d
ie

in
va

ri
an

te
n

T
ei

lr
äu

m
e

g
ib

t.
A

b
er

w
ie

fi
n

d
en

w
ir

d
ie

se
?

D
ab

ei
h

il
ft

20
16

-0
2-

0
4

4
9



D
a

r
s
t

e
l

l
u

n
g

e
n

|4

1.
B

etrach
te

d
en

P
ro

jek
tio

n
so

p
erato

rP
(α
)

11
:V
→
V

.
D

as
B

ild
im
P
(α
)

ii
ist

d
er
n
α
-d

im
en

-
sio

n
ale

T
eilrau

m
d

er
B

asisvek
to

ren
z
u

r
ersten

Z
eile

d
er
α

-ten
D

arstellu
n

g
.

2.
W

äh
le

ein
e

O
rth

o
n

o
rm

alb
asis

in
d

iesem
T

eilrau
m

{e
(α
)

k1
|1≤

k
≤
n
α }

D
ie

V
ek

to
ren

{e
(α
)

kj
|1≤

j≤
g
rD

(α
)}

m
it

e
(α
)

kj
=
P
(α
)

j1
e
(α
)

k1

b
ild

en
ein

e
O

rth
o
n

o
rm

alb
asis

im
T

eilrau
m
V
(α
)

k
,d

a
B

asisvek
to

ren
z
u

versch
ied

en
en

Z
eilen

ein
er

u
n

itären
D

arstellu
n

g
o
h

n
eh

in
o
rth

o
g
o
n

al
sin

d
.
E
s

g
ilt

n
u

n
ab

er
au

ch
V
(α
)

k
⊥
V
(α
)

`
fü

r
k
≠
`

,d
en

n

〈e
(α
)

kj |e
(α
)

`j 〉
(4

.6
4

)
=
〈P

j1 e
(α
)

k1 |P
j1 e

(α
)

`1 〉=
〈e
(α
)

k1 |e
(α
)

`1 〉=
δ
`k
.

(4
.6

6
)

4
.8

Sy
m

m
etrisch

e
u

n
d

an
tisy

m
m

etrisch
e

D
arstellu

n
g
en

4
.8

.1
Ä

u
ß

eres
P
ro

d
u

k
t

v
o
n

D
arstellu

n
g
en

4
.17

T
h

eo
rem

SeiG
=
H
×
K

ein
d
irek

tes
P
ro

d
u

k
t

d
er

U
n

terg
ru

p
p
en
H
<
G

u
n

d
K
<
G

g
em

ä
ß

D
ef.2.23.Seifern

er
D

:G
→

G
L(V

)
ein

e
D

a
rstellu

n
g

vonG
.W

en
n
D|H

:H
→

G
L(V

)
vollstä

n
d

ig
red

u
zierb

a
r

ist
u

n
d
V

en
tsp

rech
en

d
zerleg

b
a

r
ist

V
=

k
⊕α=
1

n
α

⊕i=
1

V
(α
)

iH
=

k
⊕α=
1 V

(α
)

H
.

(4
.6

7)

so
sin

d
d

ie
T

eilrä
u

m
e
V
(α
)

H
in

va
ria

n
t

b
ezü

g
lich

d
er

D
a

rstellu
n

g
D|K

:K
→

G
L(V

)
u

n
d

folg
-

lich
a

u
ch

b
ezü

g
lich

.(vg
l.Q

M
:G

em
ein

sa
m

e
Eig

en
zu

stä
n

d
e

kom
m

u
tieren

d
er

O
b
serva

b
len

)Ï

4
.8

.2
A

n
w

en
d

u
n

g
au

f
d

ie
Sy

m
m

etrisieru
n

g
v

o
n

D
arstellu

n
g
en

Sei
D

ein
e

D
arstellu

n
g

ein
er

G
ru

p
p

e
G

ü
b

er
d

en
V

ek
to

rräu
m

en
V
=
〈v

1 ,...,v
α 〉

u
n

d
W
=
〈w

1 ,...,w
α 〉.A

u
f

d
em

P
ro

d
u

k
trau

m
V
⊗
W
=
〈v
i ⊗
w
i |i,j=

1,...,α〉
w

irk
t

d
an

n

1.
d

ie
G

ru
p

p
eG

m
it

d
em

d
irek

ten
P
ro

d
u

k
t
D
⊗
D

.

2.
d

ie
P
erm

u
tatio

n
sg

ru
p

p
e
S
2 =

({e,i},·)
m

it
d

em
G

en
erato

r

S
:V
⊗
W
→
V
⊗
W

v
i ⊗
w
j
,
v
j ⊗
w
i

20
16

-0
2-0

4
51

4
.7

|
M

e
t

h
o

d
e

d
e

r
P

r
o

je
k

t
io

n
s
o

p
e

r
a

t
o

r
e

n

4
.16

T
h

eo
rem

SeiD
=
⊕
kα=
1 n

α D
(α
)

in
u

n
itä

re
irred

u
zib

le
D

a
rstellu

n
g
en

zerleg
t

u
n

d
V

en
t-

sp
rech

en
d

in
ein

e
Su

m
m

e
p

a
a

rw
eise

orth
og

on
a

ler
U

n
terrä

u
m

e

V
=

k
⊕α=
1

n
α

⊕i=
1

V
(α
)

i
.

Seiχ
(α
)

ein
irred

u
zib

ler
C

h
a

ra
cter

von
G

.D
a

n
n

ist
d

er
lin

ea
re

O
p

era
tor

P
(α
)=

g
rD

(α
)

|G|
∑g∈G
χ
(α
)(g
) ∗D

(g
)

(4
.6

2)

ein
P
rojektor

a
u

f
d

en
in

va
ria

n
ten

T
eilra

u
m

V
(α
)=

n
α

⊕i=
1

V
(α
)

i
.

Ï

K
on

seq
u

en
z:

M
an

b
en

ö
tig

t
n

u
r

d
ie

C
h

arak
tere

in
D

im
en

sio
n

en
d

er
D

arstellu
n

g
(au

s
T

a-
b

ellen
)

u
n

d
erh

ält
d

en
P
ro

jek
to

r
fü

r
d

ie
vo

rh
an

d
en

e
D

arstellu
n

g
D

.
Ç

A
ch

tu
n

g
:

D
ie

Z
erlegu

n
g

ist
n

ich
t

ein
d

eu
tig,w

en
n
n
α
>
1

,vgl.(4
.6

2).Es
w

ird
n

u
r

au
f

d
en

T
eilrau

m
in

d
em

alle
äq

u
ivalen

ten
D

arstellu
n

g
en

en
th

alten
sin

d
p

ro
jiz

iert.
Ç

4
.7.3

E
rz

eu
g
u

n
g

ein
er

sy
m

m
etriean

g
ep

assten
B

asis

W
ie

fi
n

d
et

m
an

d
ie

B
asisvek

to
ren

fü
r

d
ie

B
lo

ck
d

iag
o
n

ald
arstellu

n
g
?

D
az

u
d

efi
n

iert
m

an
d

en
b

asisu
n

ab
h

än
g
ig

en
„stark

en
P
ro

jek
tio

n
so

p
erato

r“
(A

ch
tu

n
g
:
K

ein
P
ro

jek
to

r
im

Sin
n

vo
n

Satz
4

.12).

P
(α
)

`k
=

g
rD

(α
)

|G|
∑g∈G
D
(α
)

`k
(g
) ∗D

(g
)
.

(4
.6

3)

Sei
n

u
n

im
T

eilrau
m
V
(β
)

i
ein

B
asisvek

to
r
e
(β
)

ij
(j-ter

B
asisvek

to
r),d

an
n

P
(α
)

`k
e
(β
)

ij
=

g
rD

(α
)

|G|
∑g∈G
D
(α
)

`k
(g
) ∗

g
rD
(β
)

∑m
=
1
e
(β
)

im
D
(β
)

m
j (g
)

︸
︷︷

︸
(4

.3)

=
δ
α
β δ
k` e

(β
)

i`
.

(4
.6

4
)

D
as

h
eiß

tP
(α
)

`k
erz

eu
gt

au
s

ein
em

B
asisvek

to
r
e
(β
)

ij
ein

en
Partn

er-B
asisvek

to
r

au
s

d
em

selb
en

T
eilrau

m
,falls

α
=
β

,k
=
j.

In
sb

eso
n

d
ere

fü
r
`=

k
:P
(α
)

kk
e
(β
)

ij
(4

.6
4

)=
δ
α
β δ
kj e

(β
)

ik
=
δ
α
β δ
kj e

(β
)

ij
(4

.6
5)

D
as

h
eiß

tP
(α
)

kk
p

ro
jiz

iert
au

f
d

en
R

au
m
{e
(α
)

jk
|
1
≤
j≤

n
α }

d
er

B
asisvek

to
ren

z
u

r
k

-ten
Z

eile
d

er
α

-ten
irred

u
z
ib

len
D

arstellu
n

g
(m

it
allen

V
ielfach

h
eiten

).
Es

ist
also

tatsäch
lich

ein
P
ro

jek
to

r.
Ü

b
er

fo
lgen

d
e

K
o
n

stru
k
tio

n
svo

rsch
ift

tren
n

t
m

an
n

u
n

n
o
ch

d
ie

T
eilräu

m
e

d
er

V
ielfach

-
h

eiten
.

50
20

16
-0

2-0
4


